GCSE Double Award Physics Unit 3 Foundation

Equations
It V
current = "‘?ﬂ 1= —
resistance R
total resistance in a series circuit R=R +R,
energy transferred = power X time E =Pt
power = voltage X current P=VI
. o _energy [or power] usefully transferred 100
% efficiency = total energy [or power] supplied
density = mass _m
ensy = Volume P=y
units used (kWh) = power (kW) X time (h)
cost = units used X cost per unit
wave speed = wavelength X frequency v=Af
q= distance
SPeeA = ime
S| multipliers
Prefix | Symbol Conversion factor Multiplier
milli m divide by 1000 1x1073
centi ¢ divide by 100 1 X 1072
kilo k multiply by 1000 1 %103
mega M multiply by 1000000 1 X 108




GCSE Double Award Physics Unit 3 Higher

Equations
It
current = V?i 1= 4
resistance R
total resistance in a series circuit R=R,+R,
. . . r_ 1,1
total resistance in a parallel circuit R R, R,
energy transferred = power X time E=Pt
power = voltage X current P=VI
power = current? X resistance P=1I°R
energy [or power] usefully transferred
0 ici = X
% efficiency total energy [or power] supplied 100
density = mass _m
enSY =" Volume P="y
units used (kWh) = power (kW) X time (h)
cost = units used X cost per unit
wave speed = wavelength X frequency v=Af
g= distance
SPeeI = ime
S| multipliers
Prefix | Symbol Conversion factor Multiplier
pico p divide by 1000000000000 | 1 x 107"
nano n divide by 1000000000 1x107°
micro 1) divide by 1000000 1%x107°
milli m divide by 1000 1 %1073
centi c divide by 100 1% 1072
kilo k multiply by 1000 1 x 103
mega| M multiply by 1000000 1 x 108
giga G multiply by 1000000 000 1 % 10°
terra T multiply by 1000000000000 | 1 x 10"




GCSE Physics Unit 6 Foundation

Equations
4= distance
SPeeA = ime

, , change in velocity Av
acceleration [or deceleration] = . a= —

time t

acceleration = gradient of a velocity-time graph

resultant force = mass X acceleration F=ma
weight = mass X gravitational field strength W= mg
work = force X distance W= Fd

force = spring constant X extension F=kx

S| multipliers

Prefix | Symbol Conversion factor Multiplier
mill m divide by 1000 1 %1073
centi c divide by 100 1x 1072
kilo k multiply by 1000 1% 10°
mega M multiply by 1000000 1 x 10°




GCSE Physics Unit 6 Higher

Equations
q= distance
SPeeA = ime
_ _ change in velocity Av
acceleration [or deceleration] = - a= —
time t
acceleration = gradient of a velocity-time graph
distance travelled = area under a velocity-time graph
resultant force = mass X acceleration F=ma
weight = mass X gravitational field strength W =mg
work = force X distance W=Fd
o mass X velocity?
kinetic energy = 5 KE =5 mv
change in potential gravitational field change in _
energy = mass X strength height PE = mgh
force = spring constant X extension F=kx
work done in stretching = area under a force-extension graph W= % Fx

S| multipliers

Prefix | Symbol Conversion factor Multiplier
pico p divide by 1000000000000 | 1 x 107"
nano n divide by 1000000000 1%x107°
micro divide by 1000000 1x107®
milli m divide by 1000 1 %1073
centi c divide by 100 1% 1072
kilo k multiply by 1000 1 % 103
mega| M multiply by 1000000 1 x 10°
giga G multiply by 1000000 000 | 1 x 10°
terra T multiply by 1000000000000 | 1 x 10"




